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x <-¢(-1.2,3.4,5.7, -5,0, 2) % 6 3
y <-¢(-2.2,4.4,-6.6, 8.8, 0, -3.3 ) % 6 i
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On 10/21, 2020

TEA 2 EHBY RENFZ &M EHFDI0F F = 4§ -
ID 1 2 3 4 5 6 7 8 9 10
Score| 92 74 85 60 45 83 66 78 95 55
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On 10/21, 2020

=R BARS S SRR TR 2N REDER R
1. i * if/else g7k 3t
2. i * which( ) &3k 3+
3. @ % switch( ) &3k 3t

= ##1%% 7] : scorelF + scoreWHICH » ScoreSWITCH + p % 1 % ¢ 7 :

ID 1 2 3 4 5 6 7 8 9 10
Score 92 74 85 60 45 83 66 78 95 55
Grading | excellent| ok | good ok bad good ok good |excellent| bad
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BT aARE O AE PR HWO4_5 5B 42 F XXX
s RANHE HWO04 B01921001 LogicFlow.R
n FFEFE HWO04 B01921001 LogicFlow.pdf

By N g Hp g
» P B % D] https://cool.ntu.edu.tw
s B2 E T 10/26 (Mon), 11pm 1/

By 35
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= https://forms.gle/TGYXj2uLoL4AHWgLHA
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= X ||y

= Xor( X, y)

is.na(x)

F
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OUTPUT OUTPUT

INPUT OUTPUT
A XORB

A B AANDB  AORB

g 2t F F F F F
NOT & & (2L) : @ : 8
(£)

Exclusive OR :#& &
g 7% % ik & (missing value?)
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= as.logical( ) #-H o AE Al L BB 2 e

o Meld e R SRR ¢
= as.logical( c(0, 1) )
= as.logical( c( -2.2,-1,0,1,2.2))

o By TG BET 2
= as.logical( c("T", "TRUE", "True", "true") )
= as.logical( c("F", "FALSE", "False", "false") )

» as.logical( "handsome" )
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is.logical( ) Flgr— B2 T 5 BIEE

is.logical( 3 < 5)

is.logical( c(TRUE, FALSE, FALSE, TRUE) )

is.logical( c(-2.2,-1,0, 1, 2.2) )

is.logical( "handsome" )

A
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i @ 4% 5 8 — any( ), all( )

x <-c¢(-1.2,0.5,1.0,1.3,24,5,6.3)
= any(1<x)
= any(x<5)

u06: iﬁ-ﬂfﬁ LRI i vt
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= any(1l<x & x<5) c A FF EPHEF A1R52F 9

= any(1<x) & any(x<5)

= all(1<x)
= al(x<5)

m all(1<x & x<5) « A F T #F W15 Y

= all(1<x)&all(x<5)
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x <-c¢(1.2,-34,57,-6,0,3)
which( x >= 1))

which( (x >=1) & (x <=4) )
which( x >=6)

class( which( x >=1))

x[ which( x >=1) ]

length( which( x >=1))
length( which( x >=6) )
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3<5
3>5

class(3<5)
as.integer( 3 <5)

as.integer( 3 >5)

25%(3<5)
2.5%(3>5)
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x <-c¢(1.2,-34,57,-6,0,3)

X>=0
as.integer( x >=0)
sum(x >=0)

table( x >=0)

X[ x>=0]
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x <-c¢(1.2,-34,57,-6,0,3)
y <-c(2.2,-4.4,6.6,-8.8, 0, 3.3)

X <Yy

sum( X <vy)

table( x <y)

X[ X<vy]
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X <-0.5-0.3
y <-0.3-0.1
X == y

print( x )
print( y )

print( x, digits = 10)
print( x, digits = 20 )
print( y, digits = 10)
print( y, digits = 20 )

all.equal( x, y )
identical( all.equal( x, y ), TRUE )
round( x, 1

0)
round( x, 20 )
round( x, 30 )

round( y, 10)
round( y, 20 )
round( v, 30 )
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a<-1:10/ 16

a

print( a )

print( a, digits = 20 )

b<-1:10/10

b
print( b, digits = 20 )
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= if( statement_1) = statement_1
{ n EE ST B E s e
statement_2 = X> 10
} « word == "good"

= Statement 2

= if( statement_1 ){ n EFOREE AT bde
statement_2 = data <-data + 1
} else { = plot( data )

statement_3

22



X <-2.5y<-4.7

if(x<y){zl<-x}else{zl<-y}
z1

if(x>y){z2<-x}else{z2<-y}
z2

min( X, y )

max( X, y )
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X <- "handsome"
y <-2

Z <-2

if( x == "handsome" ) { y<-y+1}

y

if( x == "beautiful" ){ y<-y-1}

y
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ifelse( logical condition, value.true if TRUE, value.false if FALSE )

X <--1.5

ifelse( x >0, x, -X)

abs( x )

25
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switch( expression, statement_1, statement_2, statement_3, ... )

= 4% lexpression =1, 2, 3, .., Kk

s A WD C
statement_1, statement_2, statement_3, ... e i®

X <-3

switch( x, 2 + 2, mean(1:10), 1:5)

switch( 6, 2 + 2, mean(1:10), 1:5)

26
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switch( expression, statement_1, statement_2, statement_3, ...... )

s 4% D expression = E 4t Bt

= Statement_1, statement_2, statement_3, ...,
TR HREROMET SR T

y <- "fruit"

switch( y, fruit = "banana", vegetable = "broccoli" )

y <- "vegetable"

switch( y, fruit = "banana”, vegetable = "broccoli" )

y <_ llmeatll

switch( y, fruit = "banana ", vegetable = "broccoli", "Neither" ) 27
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¥ B4y 4 —for()

for( index in index.set ) {

statement
y
X <-0 = X <-rep(0, times=10)
for (kin1:10){ = for(kin1:10)H{
X <- X+1 X[ k] <- k*k
y }
X = X
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¥ B4y 4 —for()

for( index in index.set ) {
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statement
y
X <-rep( 0, times = 10 ) = X <-rep(0, times=10)
for (kinc(1,3,5))¢{ = for(kinc(2,4,6,8)){
X[ k] <- k*k*k X[ K] <- k*k
} }
X = X

31
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= for( index in index.set ) {
statement

by
x(k+1)=4x(k)(1-x(k))

k=1,2,3,.. x(1) =0.2

X <-0.2
for (kin2:5){
X[k] <- 4*x[k-1]*(1-Xk-1])

}

= round( x,4) 3



PHE ARk - 2020F

:‘SE ]‘;-g] ;JF];:] Z.‘: — fOr( ) U06: 4 4] -7 42 47 F1

Feng-Li Lian @ NTU-EE

- BERSI02w & o 2 E b gl 2 o s ol 2 frihd o
X <-1:10

odd <-seq(from=1,to=9,by =2)

even <-seq( from=2,to =10, by = 2)

mysum <- mysum.odd <- mysum.even <- 0

for(iin x){ mysum <-mysum + Xx[i] }

for(jin odd ) { mysum.odd <-mysum.odd + X[j] }

for( kin even ) { mysum.even <- mysum.even + x[k] }
mysum.odd - mysum.even

sum( X )

sum( x[odd] ) - sum( x[even] ) 33
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= while( stetement_1 ) {
statement_2
)
= Xx<-¢(1,3,25,42,5,3)
= total <-x[ 1]
= count <- 1 CRET G 12w BT
= while ( total <=12 ) {
count <- count + 1
total <- total + X[ count ]
=}

= count; total 34
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= while( stetement_1 ) {
statement_2
)
= Xx<-¢(1,3,25,42,5,3)
= total <-x[ 1]
= count <- 1 CRET G 12w BT
= while ( total + x[ count+1 ] <=12 ){
count <- count + 1
total <- total + X[ count ]
=}

= count; total 35
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= count; total

= Yy <-cumsum( X )

= sum(y<=12)
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= repeat { statements
if ( statement_1 ) break

}
x<-¢(1,3,254,253)

= total <-x[ 1]

= count<-1

= repeat{ count <- count + 1; total <- total + x[ count ]
s f(total + X[ count + 1 ] >= 12 ) break

=}

= count; total
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